

Environmental Profile

This LCA is calculated according to: ISO 14044, ISO 14040 and EN 15804

Ecochain v4.3.1



Product: 3093220 - Calefa II DH unit V 40-40 H ITC CITY 9
Unit: 1 piece
Manufacturer: Wavin Denmark Hammel
Address: Wavinvej 1
8450 Hammel
Denmark
Contact: <https://www.wavin.com/en-en>

LCA standard: EN15804+A2 (2019)
Standard database: Worldwide - Ecoinvent v 3.6 Cut-Off
Externally verified: Yes
Issue date: 18-10-2024
End of validity: 18-10-2029
Verifier: Martijn van Hövell - SGS Search



Calefa II V is an indirect district heating unit with flow-through water heater and heat exchanger for space heating for villas and larger housing complexes.

This LCA was evaluated according to EN15804+A2. It was concluded that the LCA complies with this standard.

The LCA background information and project dossier have been registered in the online Ecochain application in the account Wavin Denmark Hammel (2020). (☑ = module declared, MND = module not declared).

A1	A2	A3	A4	A5	B1	B2	B3	B4	B5	B6	B7	C1	C2	C3	C4	D
☑	☑	☑	MND	MND	MND	MND	MND	MND	MND	MND	MND	MND	☑	☑	☑	☑
Product stage					Use stage							End-of-Life stage				
A1 Raw material supply A2 Transport A3 Manufacturing					B1 Use B2 Maintenance B3 Repair B4 Replacement B5 Refurbishment B6 Operational energy use B7 Operational water use							C1 De-construction demolition C2 Transport C3 Waste processing C4 Disposal				
Construction process stage					Benefits and loads beyond the system boundaries											
A4 Transport gate to site					D Reuse- Recovery- Recycling- potential											
A5 Assembly / Construction installation process																

Results

Environmental impact	Unit	A1	A2	A3	A1-A3	C2	C3	C4	D	Total
GWP-total	kg CO2 eq	1.480E+2	3.321E+0	4.959E-1	1.518E+2	8.541E-1	4.655E+0	4.290E-2	-3.616E+1	1.212E+2
GWP-f	kg CO2 eq	1.488E+2	3.318E+0	4.828E-1	1.526E+2	8.535E-1	2.421E+0	4.288E-2	-3.578E+1	1.201E+2
GWP-b	kg CO2 eq	-1.014E+0	1.238E-3	1.287E-2	-9.996E-1	3.270E-4	2.234E+0	1.150E-5	-3.378E-1	8.967E-1
GWP-luluc	kg CO2 eq	1.699E-1	1.216E-3	2.759E-4	1.714E-1	3.021E-4	9.429E-4	5.004E-6	-4.142E-2	1.313E-1
ODP	kg CFC11 eq	2.108E-4	7.324E-7	5.768E-8	2.116E-4	1.967E-7	1.353E-7	7.370E-9	-2.503E-6	2.094E-4
AP	mol H+ eq	3.851E+0	1.924E-2	4.283E-3	3.875E+0	4.862E-3	8.514E-3	1.706E-4	-5.007E-1	3.387E+0
EP-fw	kg P eq	3.076E-2	3.347E-5	2.299E-5	3.082E-2	7.023E-6	4.605E-5	2.037E-7	-4.168E-3	2.670E-2
EP-m	kg N eq	2.729E-1	6.781E-3	1.489E-3	2.812E-1	1.740E-3	2.058E-3	6.695E-5	-6.223E-2	2.228E-1
EP-T	mol N eq	3.650E+0	7.476E-2	1.394E-2	3.738E+0	1.917E-2	2.346E-2	6.510E-4	-8.220E-1	2.960E+0
POCP	kg NMVOC eq	1.051E+0	2.135E-2	3.995E-3	1.076E+0	5.480E-3	6.745E-3	1.945E-4	-2.149E-1	8.738E-1
ADP-mm	kg Sb eq	2.528E-1	8.407E-5	2.404E-5	2.529E-1	2.208E-5	3.714E-5	1.652E-7	-1.441E-1	1.089E-1
ADP-f	MJ	1.806E+3	5.004E+1	4.896E+0	1.861E+3	1.310E+1	1.437E+1	5.039E-1	-5.193E+2	1.369E+3
WDP	m3 depriv.	6.465E+1	1.790E-1	1.473E-1	6.498E+1	4.021E-2	1.061E-1	2.065E-2	-1.843E+1	4.671E+1
PM	disease inc.	1.486E-5	2.980E-7	7.909E-8	1.524E-5	7.705E-8	1.259E-7	3.334E-9	-2.812E-6	1.263E-5
IR	kBq U-235 eq	5.002E+0	2.097E-1	1.728E-2	5.229E+0	5.727E-2	5.800E-2	2.095E-3	-1.757E+0	3.589E+0
ETP-fw	CTUe	3.771E+4	4.462E+1	2.207E+1	3.778E+4	1.064E+1	4.082E+1	3.465E-1	-7.860E+3	2.997E+4
HTP-c	CTUh	1.617E-6	1.447E-9	1.026E-9	1.620E-6	3.786E-10	1.800E-9	8.067E-12	-3.420E-7	1.280E-6
HTP-nc	CTUh	4.387E-5	4.881E-8	2.324E-8	4.395E-5	1.268E-8	4.765E-8	2.389E-10	-1.100E-5	3.301E-5
SQP	Pt	1.073E+3	4.341E+1	4.025E+0	1.121E+3	1.121E+1	2.070E+1	1.080E+0	-2.310E+2	9.228E+2
Resource use	Unit	A1	A2	A3	A1-A3	C2	C3	C4	D	Total
PERE	MJ	3.178E+2	6.265E-1	2.659E+1	3.450E+2	1.880E-1	1.425E+0	5.633E-3	-7.884E+1	2.678E+2
PERM	MJ	0	0	0	0	0	0	0	0	0
PERT	MJ	3.178E+2	6.265E-1	2.659E+1	3.450E+2	1.880E-1	1.425E+0	5.633E-3	-7.884E+1	2.678E+2
PENRE	MJ	1.926E+3	5.313E+1	5.162E+0	1.984E+3	1.391E+1	1.527E+1	5.352E-1	-5.551E+2	1.459E+3
PENRM	MJ	0	0	0	0	0	0	0	0	0
PENRT	MJ	1.926E+3	5.313E+1	5.162E+0	1.984E+3	1.391E+1	1.527E+1	5.352E-1	-5.551E+2	1.459E+3
PET	MJ	2.243E+3	5.376E+1	3.175E+1	2.329E+3	1.410E+1	1.669E+1	5.409E-1	-6.339E+2	1.726E+3
SM	kg	0	0	0	0	0	0	0	0	0
RSF	MJ	0	0	0	0	0	0	0	0	0
NRSF	MJ	0	0	0	0	0	0	0	0	0
FW	m3	1.761E+0	6.095E-3	3.983E-3	1.771E+0	1.483E-3	4.956E-3	5.463E-4	-5.080E-1	1.270E+0

Output flows and waste categories	Unit	A1	A2	A3	A1-A3	C2	C3	C4	D	Total
HWD	kg	3.486E-2	1.268E-4	1.041E-5	3.500E-2	3.351E-5	3.403E-5	7.389E-7	-1.864E-2	1.643E-2
NHWD	kg	8.067E+1	3.174E+0	8.793E-2	8.393E+1	8.120E-1	5.698E-1	3.303E+0	-1.924E+1	6.938E+1
RWD	kg	4.473E-3	3.286E-4	2.478E-5	4.826E-3	8.910E-5	7.200E-5	3.308E-6	-1.504E-3	3.486E-3
CRU	kg	0	0	0	0	0	0	0	0	0
MFR	kg	0	0	0	0	0	0	0	0	0
MER	kg	0	0	0	0	0	0	0	0	0
EET	MJ	0	0	0	0	0	0	0	0	0
EEE	MJ	0	0	0	0	0	0	0	0	0
Others	Unit	A1	A2	A3	A1-A3	C2	C3	C4	D	Total
BIO-C-Product	kg C	0	0	0	0	0	0	0	0	0
BIO-C-Packaging	kg C	6.094E-1	0	0	6.094E-1	0	0	0	0	6.094E-1



Ecochain Technologies BV
 H.J.E. Wenckebachweg 123, 1096 AM Amsterdam, The Netherlands
<https://www.ecochain.com>
 +31 20 3035 777